[bookmark: _GoBack]1. David had 38 hours of free time last week, and he spent 25 hours working at his

 dad’s store.  He always gives his dad the same portion of his free time.  This week, he worked only 17hours at the store.  How much free time did David have this week?

Solve in as many ways as possible without using the cross product.


2. A drawing is 11.25 cm wide by 23.5 cm tall. The width of the image of the drawing projected onto a screen is 2.7 m. How tall is the drawing on the screen?

Solve in as many ways as possible without using the cross product.


3. Triangles IDK and NMP are similar. The perimeter of the smaller triangle IDK is 133 ft. The lengths of two corresponding sides on the triangles are 53 ft and 212 ft. What is the perimeter of NMP? 

Solve in as many ways as possible without using the cross product.


4. A baseball pitcher won 52% of the games he pitched. If he pitched 25 
ball games, how many games did he win?

Solve in as many ways as possible without using the cross product.


5. An observer is near a river and wants to calculate the distance across the river. He measures the angle between his observations of two points on the shore, one on his side and one on the other side, to be 28º. The distance between him and the point on his side of the river can be measured and is 300 feet. The angle formed by him, the point on his side of the river, and the point directly on the opposite side of the river is 128º. What is the distance across the river?

Solve in as many ways as possible without using the cross product.


6. A ramp slopes upward from the sidewalk to the entrance of a building at a constant incline.  If the ramp is 2 feet high when it is 5 feet from the sidewalk, how high is the ramp when it is 7 feet from the sidewalk?
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Solve in as many ways as possible without using the cross product.

image2.png
‘www.glencoe.com/sites/

€ - € [ [ wwwglencoe.com/sites/common_assets/workbooks/math/pdf_workbook/m3pwp.pdf 8% @ =

Apps & google [ Imported From I & Email (] Bills

. Alpha Omega

3. FLAGPOLE Lena is 57 feet tall and casts
an 8-foot shadow. At the same time, a
flagpole casts a 48-foot shadow. How
tall is the flagpole?

4. LANDMARKS A woman who is 5 feet
5 inches tall is standing near the
Space Needle in Seattle, Washington;
she casts a 13-inch shadow at the same
time that the Space Needle casts a
121-foot shadow. How tall is the Space
Needle?

5. NATIONAL MONUMENTS A 42-foot
flagpole near the Washington
Monument casts a shadow that is
14 feet long. At the same time, the
Washington Monument casts a shadow
that is 185 feet long. How tall is the

6. ACCESSIBILITY A ramp slopes upward
from the sidewalk to the entrance of a
building at a constant incline. If the
ramp is 2 feet high when it is 5 feet
from the sidewalk, how high is the
ramp when it is 7 feet from the
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